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The number of people working a traditional nine-to-five day at the office is decreasing. People can (1) ... (EASY) work from home with
access to the Internet, email and all the rest of it, and while managers who do this may still work the same number of hours, start and finish
times can be more (2) ... (FLEX). This doesn’t mean that the office as a physical place isn’t still important. This is where talking to clients or
interviewing candidates for jobs takes place and it’s unlikely to be (3) ... (PLACE) any time soon. In (4) ... (ADD), work premises have
become nicer places to be than they were even ten years ago.

Прочитайте текст. От приведенного в скобке (1) слова образуйте ОДНОКОРЕННОЕ слово таким образом, чтобы оно граммати-
чески и лексически соответствовало содержанию текста. Заполните пропуск (1). Помните, что заданную форму слова необходимо
изменить.


